gbobobbooobbobo 20030 50 310 (O)

1] 0000000 O0OoOOo0ooOooooo

d x
(1) ﬁ—xy:x, y=—1+Ce%

d T
(2) ﬁ_’.el‘y:gel‘, y:3+Ce_e

d _ s c
(3) ﬁ-ﬁ- x:—gi—l =sinx, y= mcosx+ilr:_x1 cosT +

d 2,—a?
(4) d—y + 22y = e, = 62 +Ce

T

dy sinz +C

2 — —

(5) (= —1)d—+2xy—cosx—0, y=

dy i 3 6
(6) —— 7, +y = sinz +3cos 2z, % - co2sx +pcos2z + gsin2x+C’e_’”

dy vy 2 C
7— —_ = = — —
()dx+x ooy 3+x

2 0000000000 D0O0O0D0D0O0UDODO0O0DDOOOUOOO

dy v > dz =z 1
1 _—— = = — —_ _ = ——
()gllx x  x?’ gllx+x 22
Yy 3 <
2 &y = = 9r=2
()dfery S dz 336 )
@Y L2 22 2
Bz ty=aly, ——F =

3] DO0O0OO0O000O00000O0U0OD0DDO0OO0O00OO0OULO0O00ODUODOD0OOODDO0OODOOUOOoOD
googobobooboooooooon

dy dz 4r—1 2 dw 4dx—1 2
1) == 4+ 292 —y — 222 = = = =22 — _ ==
()de+y y-227=0 (y x);l dm+ z szd’ dx z V7%

Y 12 Y z 1 z w 1 1

Y

2
(S)d——y ——DDDDDDD e00D0ODOODOO y——DDDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDDDDD



